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(—6)—2=
(2)" +(=5) =
(—4)+5=
7)* +(-10) =

8 — 8=

BIC5:.__ A37:
(-9) = (-10) =
8 —(—2) =
(4 +(2) =

(-9~ (4=

(1) +8=
3 +(-8) =
(-2 +(3)=

2’ +5=

www.snowmath.com



https://www.snowmath.com

o B = & &b BB OE

A AICG: A7
9% +8="737 (—9) — (-10) =1
(—4) - 6=(-10) 8—(—2)=10
L= (-4)=5 9"+ (2= (-1
10-4=6 (—9)° — (—4) = (-725)
32-4=5 10 =2 = (1)

(—6) —2 = (-8) 7 —3 =340

(2" +(=5) = (-4) (-1)* +8=9

(4 +5=1 3P +(-8) =19
(=7)" +(-10) = (-353) (-2 +(-3)=(-11)
8> — 8 =156 2’ +5=13

www.snowmath.com


https://www.snowmath.com

